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QUESTION 1

(single) Is the following description correct? VDSL2 provides uplink and downlink symmetric/asymmetric transmission
rates on a pair of twisted pairs, with a transmission distance of about 3 km, a maximum downlink rate of 52 M
(symmetric rate), and a maximum uplink rate of 12 M (asymmetric rate). 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

(single) Is the following description correct? In the GPON network, in order to avoid data collision and improve network
utilization efficiency, the TDMA multiple access mode is adopted in the downlink direction and the data transmission of
each ONU is arbitrated. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

(multiple) In Huawei DSLAM products, which of the following attributes have two layers of VLAN TAG information? 

A. Super vlan 

B. Common vlan 

C. QinQ vlan 

D. Stacking vlan 

Correct Answer: CD 

 

QUESTION 4

(multiple) Which of the following are the most common services for triple play access? 

A. Internet access service 

B. VoIP service 

C. IPTV service 

D. Private line business 
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Correct Answer: ABC 

 

QUESTION 5

(single) A part of the field in the IP packet is used to describe the lifetime of the packet, that is, the TTL 

value. 

What is the maximum value? 

A. 255 

B. 256 

C. 1023 

D. 1024 

Correct Answer: A 
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